e RIZIN D #

| Bih I35 - B=3%m

I T B - R 15 5 BHFR

—YURF—

4 | EEMR 2024 FEEE

301-1,2,3/302-1,3,4/

ﬂ 303-1,3,4/305-7/306-1,3,4,5

SEH=E Fr) 75.6 50.0 22.9 15.4
HWIRIFT—IRAE (FGJ] 965 573 251 517 9.0
HWMERAZ (FH2) 62.1 52.7 36.6 29.2 -
[FErEt (FH2) 58.5 49.6 35.5 27.8 0.0
bR ) (Fr) 3.5 3.1 1.1 1.4 0.0
KERIRAE (Fnid 2,727.8 750.8 425.3 1,443.9 1.9
BEMRARBEEE (F+-C02) 53.5 17.1 14.6 34.7 0.3
SOxHEHE (k2] 0.0 0.0 0.1 2.0 -
NOxHEEE (k2] 28.7 3.4 4.4 4.1 -
COD#EtE (k2] 17.5 1.7 4.6 31.4 -
TimHiBEEYE ) 9,986.9 4,278.0 513.6 5,433.0 10.2
ARERU 1 VIVE ) 0.0 0.0 0.0 840.0 0.0
NERITA DIVE (k2] 7,421.6 4,192.6 83.9 2,226.9 9.8
RGBS E (k2] 42.0 1.8 0.0 21.1 0.3
PRTRENRMIEHELE (k23 30.3 44.2 7.7 17.6 0.0
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e RIZIN D #

—YURF—

4 | EEMR 2024 FEEE

301-1,2,3/302-1,3,4/
303-1,3,4/305-7/306-1,3,4,5

| BsmIIN—7 &t
| mE | s | BATAWSANER | FMEWISW | BAREIRW | AATHARA (RueEe) | BAIER | EEEER
LEH=E (Fr2)
RIRIF—RAE [(FGJ] 1 09.8 24.1 1 0.0 36.3 2.4 1 .4
HwyERAS [Tk 3.1 2.1 0.3 4.6 0.0 1.0
[FErEt £k 2.5 2.1 0.3 4.5 0.0 0.7
AR (Fr2) 0.5 0.0 0.0 0.0 0.0 0.3
KEFEAE (Fnid 450.0 10.8 10.9 20.2 1.7 4.6
BENRARLE (F+-CO2) 6.4 1.4 0.5 2.4 0.1 0.1
SOxHEHE (k22 0.0 0.0 0.0 1.3 0.0 0.0
NOxHEt= (k22 0.0 0.0 0.0 0.0 0.0 0.0
COD#tE ) 0.0 0.0 0.0 0.0 0.0 0.0
TiHHehEEYE (k2] 145.5 87.3 93.8 85.5 11.0 84.2
RER) 1 VIVE () 0.0 0.0 0.0 0.0 0.0 0.0
NEITAVIVE (k22 143.9 87.3 71.6 52.6 8.1 84.2
RIS E (k23 1.6 0.0 2.4 1.9 1.0 0.0
PRTRIENRMIEHEHE (k2] 4.5 2.0 0.1 0.0 0.0 0.6
| WA | ma | EHTEE  [NOFXSNI—F(IYRM| WZunI—7IY
LEHE (Fr) 6 - 1. 28.8
RIRIF—EAE (FGJ] ’7.4 '7.5 11.8 6.4 11.2 359.8
HwyEKRASE Fr) 1.7 2.3 - - - 30.3
[FEt (Fr2) 1.6 1.8 - - - 28.8
AeRaEM (Fr) 0.1 0.5 - - - 0.0
KERIKAE (Fni) 35.0 8.8 0.8 - - 1,993.4
BEMRAREEE (Fh>-CO2) 0.4 0.0 0.4 0.4 0.6 18.1
SOx#ktiE (k) 0.0 0.0 0.0 - - 1.2
NOxHEtE )] 0.5 0.0 0.0 - - 4.7
COD#EEE (k) 0.1 0.0 0.0 - - 97.8
TGRS ) 20.1 176.8 53.5 - - 3,318.2
AERUH 1 VIVE (k2] 0.0 0.0 0.0 - - 0.0
NEITA DIVE (k2] 20.1 176.2 26.3 - - 950.0
RIS E (k2] 0.0 0.0 0.0 - - 986.3
PRTRENZRMEHHE ) 0.0 0.0 27.9 - - —
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